

Meeting Agenda - Final

Board of Public Works

Monday, September 26, 2022	10:00 AM	Council Chambers
		City Hall, First Floor

The Board of Public Works meeting is open for attendance in person. The meeting will also be available through video conferencing. The meeting can be viewed by clicking this link (or typing the URL in your web browser address bar):

https://stream.lifesizecloud.com/extension/4912386/d03f0fa0-d3ae-441f-b758-981412510a4a

If you wish to speak on an agenda item, you can do so as part of the virtual meeting. Contact the City Clerk at the email or phone number below so we can provide you with the necessary information to join.

Members of the public who would like to provide written comments on any agenda may do so by emailing cityclerk@cityoflacrosse.org, using a drop box outside of City Hall or mailing the City Clerk, 400 La Crosse Street, La Crosse WI 54601. Questions, call 608-789-7510 (press 5).

Call to Order

Roll Call

Approval of Minutes

Agenda Items:

1	<u>22-1225</u>	Bidder's Proof of Responsibility.
2	<u>22-1145</u>	Construction Contract Final Payment.
		Attachments: Final-2022 Street Painting-Long Lines
3	<u>22-1224</u>	Report of Quote Proposals for Kids Coulee Playground Renovations Phase 1.
		Attachments: Quote Cover Letter to BPW

Adjournment

Notice is further given that members of other governmental bodies may be present at the above scheduled meeting to gather information about a subject over which they have decision-making responsibility.

NOTICE TO PERSONS WITH A DISABILITY

Requests from persons with a disability who need assistance to participate in this meeting should call the City Clerk's office at (608) 789-7510 or send an email to ADAcityclerk@cityoflacrosse.org, with as much advance notice as possible.

Board members: Mitch Reynolds, Rebecca Schwarz, Chris Kahlow, Andrea Trane, Matt Gallager.

City of La Crosse, Wisconsin



City Hall 400 La Crosse Street La Crosse, WI 54601

Text File File Number: 22-1225

Agenda Date: 9/26/2022

Version: 1

Status: Agenda Ready

In Control: Board of Public Works

Agenda Number: 1

File Type: General Item

City of La Crosse, Wisconsin



City Hall 400 La Crosse Street La Crosse, WI 54601

Text File File Number: 22-1145

Agenda Date: 9/26/2022

Version: 1

Status: Agenda Ready

In Control: Board of Public Works

Agenda Number: 2

File Type: General Item

		30A	BOARD OF PUBLIC WORKS - MONTHLY ESTIMATE	Y EST	MATE		
Contractor	Fahrne 6615 U	sr Asphé S Hwv 1	Fahrner Asphalt Sealers, LLC 6615 US Hwv 12W. Eau Claire. WI 54703	Estimate Number	mber	FI #2 October	FINAL
Contract	2022 S	treet Pa	2022 Street Painting - Long Lines	Resolution Number	Number		
	October-22 22-017 MISC 22-20	er-22		Contingency Amount Contract Amount	y Amount nount	\$102,755.50	55.50
		Item		Unit of			h.
Section Title	Item	Code	Item Description	Measure	Quantity	Unit Price	Total
	-		Center & Edge Lines, As Specified	L.S.	0.98	\$79,350.00	\$77,763.00
	2		8-Inch Barrier Lines, As Specified	L.F.	19360.0	\$0.45	\$8,712.00
	m		1 (0)	L.F.	2645.0	\$1.50	\$3,967.50
	4		4-Inch Approach Center Lines, As Specified	L.F.	2660.0	\$2.50	\$6,650.00
	5		4-Inch Median Approach Lines, As Specified	L.F.	569.0	\$4.00	\$2,276.00
	9		4-Inch Intersection Guide Lines, As Specified	L.F.	450.0	\$4.00	\$1,800.00
							Å
Page 1 of 2							

	B0/	BOARD OF PUBLIC WORKS - MONTHLY ESTIMATE	Y EST	MATE		
Contractor Fal	hrner Asp 15 US Hw)	Fahrner Asphalt Sealers, LLC 6615 US Hwy 12W, Eau Claire, WI 54703	Estimate Number	umber	FII #2 October	FINAL
Contract 203 Date Oc	2022 Street F October-22	2022 Street Painting - Long Lines October-22	Resolution Number Contingency Amount	Number y Amount		
# Jumber	22-017 MISC-22-20		Contract Amount	nount	\$102,755.50	55.50
Title	Line Item Item Code	n e Item Description	Unit of Measure	Quantity	Unit Price	Total
	_	Total Completed				\$101,168.50
		Less 0% Retainage				\$0.00
		Amount due on Contract of total amount of work to date:				\$101,168.50
Audited		20.		Total Previous Estimates Estimate No. #2 Octobe	s Estimates #2 October	\$92,184,11 \$8,984.39
COMPTROLLER						
RESOLVED: That an order be drave the same being payment of the estimate for the 2022 Street	of the estim	RESOLUTION That an order be drawn in favor of Fahrner Asphalt Sealers, LLC nate for the 2022 Street Painting - Long Lines		for the sum of	ų	\$8,984.39
Respectfully Submitted, COUNCIL COMMITTEE						

 \mathbf{x}

5

APPROVED BY BOARD OF PUBLIC WORKS

6

City of La Crosse, Wisconsin



City Hall 400 La Crosse Street La Crosse, WI 54601

Text File File Number: 22-1224

Agenda Date: 9/26/2022

Version: 1

Status: Agenda Ready

File Type: General Item

In Control: Board of Public Works

Agenda Number: 3

City of La Crosse, Wisconsin



City of La Crosse Engineering 400 La Crosse Street La Crosse, WI 54601-3396 608) 789-7505 FAX (608) 789-8184

Date 9/20/22

PROJECT: Kids Coulee Playground Renovations Phase 1 Quote

To the Board of Public Works

Dear Board of Public Works Members:

The following quote was received for the **Kids Coulee Playground Renovations Phase 1** project:

Kirchner Custom Builders	\$312,425.00
Brickl Bros.	\$421,122.64
Fowler & Hammer, Inc.	\$518,052.00
Market & Johnson, Inc.	\$598,318.00

The City Engineer recommends awarding the quote proposal to Kirchner Custom Builders in the amount of \$312,425.00.

Sincerely,

Matthew Gallager, P.E. Director of Engineering & Public Works